
1) 15 + 55

Answer: ____________

2) Find the percentage change from 5 to 
20

Answer: ____________

3) Find the range of the following set of data:

9, 3

Answer: ____________

4) 101 - 100

Answer: ____________

5) 52/4 ÷ 41/2

Answer: ____________

6) 23 x 66

Answer: ____________

7) 2   5/9 - 2   1/2

Answer: ____________

8) What would you multiply by to 
decrease an amount by 92%?

Answer: ____________

9) (-68) - 24

Answer: ____________

10) 11.8 x 16.8

Answer: ____________

11) 11 x 10 + 1 ÷ 4

Answer: ____________

12)
Find the next three numbers in 
the sequence
4,8,8,12,12,16,16__,__,__

Answer: ____________

13) Share 26 in the ratio 17:9

Answer: ____________

14) 19/9 - 8/12

Answer: ____________

15) Decrease 10 by 90%

Answer: ____________
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16)

A = 58 B
Find the Angle at side B.

Answer: ____________

17) 58/10 x 43/8

Answer: ____________

18) Find the range of the following set of data:

4, 6, 3, 8, 3, 0.3, 7, 2

Answer: ____________

19) A number was shared in the ratio 
9:1. The smaller share was 15. What 
was the total amount shared?

Answer: ____________

20) 52/7 ÷ 63/4

Answer: ____________

Total: ___ / 20
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Answers:

1) 70 2) 300% 3) 6 4) 1 5) 12/9 6) 1518 7) 1/18

8) 0.08 9) -92 10) 198.24 11) 12) 20,20,24, 13) 1 : 25 14) 14/9

15) 1 16) 122 17) 253/8 18) 7.7 19) 150 20) 148/189
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